

$$\vec{x}_n = A\vec{x}_{n-1} = A^2\vec{x}_{n-2} = \dots = A^n\vec{x}_0$$

$$\vec{x}_m = \vec{x}_0 \text{ のとき } \vec{x}_m = A^m\vec{x}_0 \neq 1 \quad A^m\vec{x}_0 = \vec{x}_0$$

7-1-1(1)(1)の定理より $A^m = \alpha A + \beta E$ (α, β はある実数) とおける。

$$(\alpha A + \beta E)\vec{x}_0 = \vec{x}_0. \quad \alpha A\vec{x}_0 = (-\beta + 1)\vec{x}_0$$

$$\alpha \neq 0 \text{ のとき } A\vec{x}_0 = \frac{-\beta + 1}{\alpha}\vec{x}_0, \quad A^m\vec{x}_0 = \vec{x}_0 \text{ とおける。 } A^m\vec{x}_0 = \left(\frac{-\beta + 1}{\alpha}\right)^m\vec{x}_0 \neq 1 \quad \left(\frac{-\beta + 1}{\alpha}\right)^m\vec{x}_0 = \vec{x}_0$$

$$\frac{-\beta + 1}{\alpha} = 1 \text{ のとき } \beta = -\alpha + 1, \quad A^m = \alpha A + (-\alpha + 1)E$$

$$A^m\vec{x}_0 = \vec{x}_0 \text{ とおける。 } \{\alpha A + (-\alpha + 1)E\}\vec{x}_0 = \vec{x}_0, \quad \alpha A\vec{x}_0 = \alpha\vec{x}_0, \quad A\vec{x}_0 = \vec{x}_0 \quad \text{これは題意に矛盾する。}$$

$$\frac{-\beta + 1}{\alpha} = -1 \text{ のとき } \beta = \alpha + 1, \quad A^m = \alpha A + (\alpha + 1)E$$

$$A^m\vec{x}_0 = \vec{x}_0 \text{ とおける。 } \{\alpha A + (\alpha + 1)E\}\vec{x}_0 = \vec{x}_0, \quad \alpha A\vec{x}_0 = -\alpha\vec{x}_0, \quad A\vec{x}_0 = -\vec{x}_0, \quad A^2\vec{x}_0 = \vec{x}_0, \quad \text{これは題意に矛盾する。}$$

$$\text{よって } \alpha = 0, \quad A^m = \beta E, \quad A^m\vec{x}_0 = \vec{x}_0 \neq 1 \quad \beta\vec{x}_0 = \vec{x}_0, \quad \beta = 1, \quad \text{ゆえに } A^m = E.$$